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KNOWING OUR NUMBERS

1. Estimate 1745 4 967 + 84 using general rule.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_3UWdUPKPJnGZ

2. Estimate 29435 - 8605 using generalrule.
(Here both the numbers are rounded off to the

nearest thousands.)

° Watch Video Solution

3. Estimate 72 x 584 using general rule.

° Watch Video Solution

Solution Of Textual Questions Try This


https://dl.doubtnut.com/l/_NypivsVLNkn7
https://dl.doubtnut.com/l/_ti1KzDxDEKgW
https://dl.doubtnut.com/l/_3NNOjTVQOq80

1. Can you instantly find the greatest number
in each row and also which is the smallest
number.

382,4972,18,59785,750.

Was that easy?Why was it easy.

o Watch Video Solution

2. Can you instantly find the greatest number
in each row and also which is the smallest

number.


https://dl.doubtnut.com/l/_3NNOjTVQOq80
https://dl.doubtnut.com/l/_oc0aijSDNSBD

1473, 89423, 100, 5000, 310

Was that easy?Why was it easy.

o Watch Video Solution

3. Can you instantly find the greatest number
in each row and also which is the smallest
number.

1834, 75284, 111, 233, 450

Was that easy?Why was it easy.

° Watch Video Solution



https://dl.doubtnut.com/l/_oc0aijSDNSBD
https://dl.doubtnut.com/l/_kHH4XXSS5faY
https://dl.doubtnut.com/l/_yCu6wNrpEwGK

4. Can you instantly find the greatest number
in each row and also which is the smallest
number.

2853, 7691, 9999, 12002, 124

Was that easy?Why was it easy.

o Watch Video Solution

5. Find the greatest and the smallest numbers.

4536,48.92,43.70, 4452

° Watch Video Solution



https://dl.doubtnut.com/l/_yCu6wNrpEwGK
https://dl.doubtnut.com/l/_ED8djbVytPL4

6. Find the greatest and smallest numbers.

15623, 15073, 15189, 15800.

° Watch Video Solution

7.Find the greatest and the smallest numbers.

25286,25245,25270,25210

o Watch Video Solution



https://dl.doubtnut.com/l/_6bZL4M7RP9b5
https://dl.doubtnut.com/l/_LNDjq04LT5XV

8. Find the greatest and the smallest numbers.

6895, 23787, 24569,24659

° Watch Video Solution

9. Use the given digits without repetition and
make the greatest and samallest four-digit
number:

54,0,3

o Watch Video Solution



https://dl.doubtnut.com/l/_7Hlboi5NvsRI
https://dl.doubtnut.com/l/_kTruSWt1aD3H
https://dl.doubtnut.com/l/_V36rnRY0E8aI

10. Use the given digits without repetition and
make the greatest and samallest four-digit
number:

9,74,

° Watch Video Solution

11. Use the given digits without repetition and
make the greatest and samallest four-digit
number:

4,7,5,0

o Watch Video Solution



https://dl.doubtnut.com/l/_V36rnRY0E8aI
https://dl.doubtnut.com/l/_Yg2koTmo3pWF

12. Use the given digits without repetition and
make the greatest and samallest four-digit
number:

1,7,6,2

o Watch Video Solution

13. Use the given digits without repetition and
make the greatest and samallest four-digit
number:

54,0,3


https://dl.doubtnut.com/l/_Yg2koTmo3pWF
https://dl.doubtnut.com/l/_oISPCtNWez7W
https://dl.doubtnut.com/l/_D0bSA2cCqVOx

° Watch Video Solution

14. Now make the greatest and the smallest
four digit numbers by using any one digit
twice.

3,8,7

o Watch Video Solution

15. Now make the greatest and the smallest

four digit numbers by using any one digit


https://dl.doubtnut.com/l/_D0bSA2cCqVOx
https://dl.doubtnut.com/l/_ObSuOSvIkpYV
https://dl.doubtnut.com/l/_JW9tk9stgSk2

twice.

9,0,5

o Watch Video Solution

16. Now make the greatest and the smallest
four digit numbers by using any one digit
twice.

0,49

° Watch Video Solution



https://dl.doubtnut.com/l/_JW9tk9stgSk2
https://dl.doubtnut.com/l/_VSQEfVA8N0V3

17. Now make the greatest nad the smallest
four digit numbers by using any one digit
twice.

8,5,1.

° Watch Video Solution

18. Make the greatest and the smallest 4-digit
numbers using any four different digits with
condition as given.

Digit 7 is always at ones place.

I n|A',L,L\'!,I,, o~ _1_ _sn°®° ___


https://dl.doubtnut.com/l/_fV9DMkApJgcu
https://dl.doubtnut.com/l/_po1Sxks2hF8z
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19. Make the greatest and the smallest 4-digit
numbers using any four different digits with
condition as given.

Digit 4 is always at tens place.

° Watch Video Solution

20. Make the greatest and the smallest 4-digit

numbers using any four different digits with


https://dl.doubtnut.com/l/_po1Sxks2hF8z
https://dl.doubtnut.com/l/_DXvafrabnN3I
https://dl.doubtnut.com/l/_TY101ZuHKgeX

condition as given.

Digit 9 is always at hundreds place.

o Watch Video Solution

21. Make the greatest and the smallest 4-digit
numbers using any four different digits with
condition as given.

Digit 1is always at thousands place.

° Watch Video Solution



https://dl.doubtnut.com/l/_TY101ZuHKgeX
https://dl.doubtnut.com/l/_6Uks2z6e4VZP

22. Take two digits,say2 and 3.From them make
four-digit numbers,using both the digits equal
number oftimes.

Which is the largest number?

o Watch Video Solution

23. Take two digits,say2 and 3.From them make
four-digit numbers,using both the digits equal
number oftimes.

Which is the smallest number ?

I n|A',L,L\'!,I,, o~ _1_ _sn°®___


https://dl.doubtnut.com/l/_aGCIZdIrezlb
https://dl.doubtnut.com/l/_kh1uv5nFOWcG
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24. Take two digits,say2 and 3.From them make
four-digit numbers,using both the digits equal
number oftimes.

How many different humbers can you make in

all?

° Watch Video Solution

25. Find the derivative of Cot2x+cosecx

o Watch Video Solution



https://dl.doubtnut.com/l/_kh1uv5nFOWcG
https://dl.doubtnut.com/l/_ZU9VrriseJSH
https://dl.doubtnut.com/l/_bMLbSR4CHdTa

26. Find the derivative of tan(5x-9)

° Watch Video Solution

27.Find the derivative of log(2x+3)

o Watch Video Solution

28. Which to buy?

o View Text Solution



https://dl.doubtnut.com/l/_bMLbSR4CHdTa
https://dl.doubtnut.com/l/_C7bpQscEZ2aR
https://dl.doubtnut.com/l/_sbHSm9GlAvUB
https://dl.doubtnut.com/l/_vV1OlmL0f3dz

29. Adjacent is a vertical number
line,representing integers.Observe it and
locate the following points:

Arrange all the points in decreasing order of

value.

=
g
+
BNWBRNONF

o Watch Video Solution



https://dl.doubtnut.com/l/_vV1OlmL0f3dz
https://dl.doubtnut.com/l/_HWFgw46BsXY4

30. Think of five more situations where you can

compare three or more quantities.

° Watch Video Solution

31. Arrange the following numbers in

ascending order.

®47, 9754, p20, @7

L@ 13

o Watch Video Solution



https://dl.doubtnut.com/l/_g72bmjRsI5Yv
https://dl.doubtnut.com/l/_Wrr5xqxkd1jy

32. Arrange the following numbers in

ascending order.

G801, 25751, J6501, JREOZ

l

o Watch Video Solution

33. Arrange the following numbers in

descending order.


https://dl.doubtnut.com/l/_cnyebLIsxw1W
https://dl.doubtnut.com/l/_0QSp10ukt8Kn

000, '?SIII -'EHI]FII, I

e-:éf@

° Watch Video Solution

34. Arrange the following numbers in

descending order.

1971, 43321, BR71S, 92847

L L]

@ 9=8=4

I o Wiak~h \NNAaAn CAaliikian


https://dl.doubtnut.com/l/_0QSp10ukt8Kn
https://dl.doubtnut.com/l/_66CaBKYbzMEf

35. Arrange the following numbers in
ascending order.
4645, 4657,4661,4692
° Watch Video Solution
36. Arrange the following numbers in

ascending order.

78328,78136,78418,78216

o Watch Video Solution



https://dl.doubtnut.com/l/_66CaBKYbzMEf
https://dl.doubtnut.com/l/_nlF0Ec9UKh3Q
https://dl.doubtnut.com/l/_YgqdlOowpXDl

37. Arrange the following numbers in
ascending order.
25261,25562,25172,25304
° Watch Video Solution
38. Arrange the following numbers in

ascending order.

14526,14556, 14517, 14530

o Watch Video Solution



https://dl.doubtnut.com/l/_YgqdlOowpXDl
https://dl.doubtnut.com/l/_CCSa5tDVlgRc
https://dl.doubtnut.com/l/_zzEwQiBnnihV

39. Arrange the

ascending order.

following

64393,64394,64321,64313

numbers

in

° Watch Video Solution

40. Read and expand the numbers wherever

there are blanks.

Number Number Name Expansion
50000 | Fifty thousand 5 = 10000
41000 | Forty one thousand 4 = 10000 + 1 = 1000
47300 | Forty seven thousand three hundred | 4 = 10000 + 7 = 1000 +
3=100
57630 | Fifty seven thousand six undred | 5 = 10000 + 7 = 1000 +
thirty 6x100+3x10+0x1
29485 | Twenty ninc thousand four hundred | 2 = 10000 + 9 = 1000 +
eighty five ; 4= 100+8=10 +5x1
20085 | Twenty ninc thousand eighty five |2 = 10000 + § = 1000 +
Ex10+5=1
20085 | Twenty thousand eighty five 2x10000+8=10+5=1
20005 | Twenty thousand five 2x10000+5x= 1



https://dl.doubtnut.com/l/_3LxahHKN9fRt
https://dl.doubtnut.com/l/_wCpRjFk5FWeK

° Watch Video Solution

41. Write five more 5-digit numbers, read them

and expand them.

Number Number Name Expansion

62000 | Sixty two thousand 6 = 10000 + 2 = 1000

87300 | Eighty seven thousand thres 8 = 10000 + 7 = 1000 + 3
hundred = 100

53215 | Fifty three thousond two hondred | 5 = 10000 + 3 = 1000 +
fifteen 2=x100+1=10+5=1

20095 | Twenty thousand ninety five 2= 000D +9=10+5x=1

10007 | Ten thousand seven 1 10000+ 7 =1

° Watch Video Solution

42. What is 10-1?

I o WMilakl .\t daa Ol ikt am


https://dl.doubtnut.com/l/_wCpRjFk5FWeK
https://dl.doubtnut.com/l/_zVZ1ifjGUPrG
https://dl.doubtnut.com/l/_xWxvhHirnjgS
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43. What is 100-1=?

o Watch Video Solution

44, What is 10,000-1?7

o Watch Video Solution

45, Write 1,10,00 in expanded form

I ° Watch Video Solution


https://dl.doubtnut.com/l/_xWxvhHirnjgS
https://dl.doubtnut.com/l/_KFVMY2Hh3ETv
https://dl.doubtnut.com/l/_SmnXXUW0vNIt
https://dl.doubtnut.com/l/_ezMNmNfr7G2u

46. Write1,20,00,000 in expanded form

o Watch Video Solution

47. The number of people in the nearby town
would be much larger. Is it a 5 or 6 or 7 digit

number?

° Watch Video Solution



https://dl.doubtnut.com/l/_ezMNmNfr7G2u
https://dl.doubtnut.com/l/_sw1m1tIehgMT
https://dl.doubtnut.com/l/_6mhe2zQs7eyB

48. Do you know the number of people in your

state?

° Watch Video Solution

49, How many digits would that number have?

o View Text Solution

50. What would Be the number of grains in a

sack full of wheat? A 5-digit number or a 6-digit


https://dl.doubtnut.com/l/_QUdBJ3fK4L4w
https://dl.doubtnut.com/l/_4QN5wvqcgUUn
https://dl.doubtnut.com/l/_tU1hm8vIe0vl

number or more.

o Watch Video Solution

51. Give five examples where the number of
things counted would be more than a 6-digit

number.

° Watch Video Solution

52. Starting from the largest 6-digit number

write  the previous five numbers in


https://dl.doubtnut.com/l/_tU1hm8vIe0vl
https://dl.doubtnut.com/l/_6j4j8bDmk010
https://dl.doubtnut.com/l/_I6djDsaP4C0V

descdending order.

o Watch Video Solution

53. Starting from the smallest 8-digit number
write the next five numbers in ascending order

and read them.

° Watch Video Solution

54. How many lakhs make a million?

o Watch Video Solution



https://dl.doubtnut.com/l/_I6djDsaP4C0V
https://dl.doubtnut.com/l/_qPmWdN91MFCK
https://dl.doubtnut.com/l/_u54Tkzujmc0b

55. How many millions make a crore?

° Watch Video Solution

56. Express three large numbers in Indian
system and International system  of
numeration

62800108

o Watch Video Solution



https://dl.doubtnut.com/l/_u54Tkzujmc0b
https://dl.doubtnut.com/l/_PIbrY32APyrs
https://dl.doubtnut.com/l/_vLouX2vmjH9l
https://dl.doubtnut.com/l/_jjZceOcNQBlU

57. Express three large numbers in Indian
system and International system of
numeration

72624395

° Watch Video Solution

58. Express three large numbers in Indian
system and International system  of
numeration

50060209

o Watch Video Solution



https://dl.doubtnut.com/l/_jjZceOcNQBlU
https://dl.doubtnut.com/l/_5P5ejg3xw6W6

59. Read these numbers.Write them using

placement boxes and then write their

expanded forms.

Number Placement box Number Expansion
mame
Cr|TL| L |[Th|{Th|H | T
L 4,75,320 4|7 5 |13| 2|0 |Fourlakh | 4= 100000+
seventy 7 = 10000 +
five 5 = 1000 + 3
thousand | = 100
Ihree +2=10+0x=1
bxmdred
.| rwenty



https://dl.doubtnut.com/l/_5P5ejg3xw6W6
https://dl.doubtnut.com/l/_jtI7667Pg6mK

[T | Number Placement box Number | Expansion
. name
Cr|TL| L |Th|Th | H| T
, | 984721 9l 8flal7]2]1]5|Ninety 9 1000000 +
1. | 9847213 e aua ¥
lakh forty | 4 = 10000+
seven 7 = 1000 +
thousand | 2= 100+1% 10
wo +5x]
hundned
p fiflcen
ML | om4s3lo (9| 7| 6 4 513 1 0 | Nine 9 = 100000000
crore .
seventy | 7= 10000000 +
six lakh | 6= 100000 +
forty five | 410000+5=
thousand | 1000
three +3 =100 + |
hundrcd = |0
ten +0=|
4 5 g |0} 9|4 | Thes 3 = 10000000 +
V.| 30458094 | 3 | O . g i
four lakh | = 10000 + 8 =
fifty eight | 1000 + 9 x 10
thousand | +4=1
minety
four

(a) Which is the smallest number?
(b) Which is the greatest number?

( c) Arrange these numbers in ascending and

descending order.

° Watch Video Solution



https://dl.doubtnut.com/l/_jtI7667Pg6mK

60. Read these numbers.

Nomber Placement box
Number Name

Todian System

ML | 18950049 | 1 | 8 | 9 | 5 | 0 |0 | 4 | 9 |Onecroeeighy
nine lakh fifty
| thousand forty nine.

V.| To002509 | 7-| 0 J 0 | 0| 2 |5] 0| 9 |Sevencroretwo
thousand five
hundred nine.

Momber Placement box Number Name

International
BN IR EAD: System

I 527864 5 2 7 B | 6 | 4 | Fivelnmdred twenty
seven thowsand eight
undred shety fiour,

1. 95432 9 5.1 4| 3 | 2 | Ninetyfive
thousand four
hunidred thirty two

HL | 18950042 | 1 8 9 5 |0 | o| 4|9 |Eighteen million
nine hundred fifty
thowusand forty nine,
tv.| 70002509 | 7 |0 | 0 | o |2|5]| 09 |Secventymiltion

twio thousand five
bundred nine

(b) Arrange these in ascending and descending

order.

o Watch Video Solution



https://dl.doubtnut.com/l/_7JYw0Ib7syCg
https://dl.doubtnut.com/l/_xrNNo57Dvvzm

61. Take three more group of large numbers

and do the exercise given above.

Number Placement box Nuomber | Expansion
oame
CriTLy L |[Th|Th|H | T O
L 58641 5 B | 6| 4 | I |Fiftycight | 5= 10000+8x
thousand 1000
six +6x= 100+4
hundred 10+
fortyone | b=t
Number ) Placement box MNumber Expansion
mEame
| L|T|TR|B| T |O
W | sematzsi | s |o| 7| 4|1 |2]5]1 |Egn 8 = 10000000
L crom +
ity 9 = 1000000
seven [akh

¥
fortyone | 7 = 100000 +
thousand  § 4 = 10000+ [

two = | D00
hundred +2 = J00+35
fityone | =10
+1=1
TIL. Tod6350 7 9 4 [ 3 5 0 | Scventy 7 = 1000000
minc lakh |+
forty six 9 = 100000 +

thousand | 4 = 10900 +
thres G=1000 + 3
hundred = 10D
fifty

£5x10+0
® ] J

(a) Which is the smallest number?

(b) Which is the greatest number?


https://dl.doubtnut.com/l/_xrNNo57Dvvzm

( ) Arrange these numbers in ascending and

descending order.

o Watch Video Solution

62. You have the following digits 1,2,5,0,7 and 9.
Using them make five numbers each with 6-

digits.

° Watch Video Solution



https://dl.doubtnut.com/l/_xrNNo57Dvvzm
https://dl.doubtnut.com/l/_eOgFnmlswf4N

63. You have the following digits4,5,6,0,7,8
Using them make five numbers with 6 digits.

Put commas for ease for reading.

° Watch Video Solution

64. Arrange 1,09,5,73 in ascending and

descending order.

o Watch Video Solution



https://dl.doubtnut.com/l/_eeqbtD1D9hya
https://dl.doubtnut.com/l/_A0XxyNIaX5Tm

65. Take the digits 4,5,6,7,8 and 9.Make any
three numbers with 8 digits.Put commas for

ease of reading.

° Watch Video Solution

66. From the digits 3,0 and 4 make five

numbers each with 6 digits.Use commas.

o Watch Video Solution



https://dl.doubtnut.com/l/_24El7vM0OSLS
https://dl.doubtnut.com/l/_4BUHTrP7oxkC

67. How many centimetres make a kilometre?

° Watch Video Solution

68. Name five large cities in India.Find their
population.Also,find distance in kilometres

between each pair of these cities.

o Watch Video Solution

69. How many milligrams make one kilogram?



https://dl.doubtnut.com/l/_Yyw0Lfpwq4hC
https://dl.doubtnut.com/l/_iJs2OAZCDINS
https://dl.doubtnut.com/l/_qFtKiUUk92I0

I o Watch Video Solution

70. A box contains 2,00,000 medicine tablets
each weighing 20 mg. What is the total weight
of all the tablets in the box in grams and in

kilograms?

o Watch Video Solution

71. A bus started its journey and reached
different  places with a speed of

60km//hour.The journey is shown below:


https://dl.doubtnut.com/l/_qFtKiUUk92I0
https://dl.doubtnut.com/l/_Froc3yVOU7E9
https://dl.doubtnut.com/l/_BV5VhilGztXI

Find the total distance covered by the bus

from D to G.

o Watch Video Solution

72. A bus started its journey and reached
different  places with a speed of

60km//hour.The journey is shown below:


https://dl.doubtnut.com/l/_BV5VhilGztXI
https://dl.doubtnut.com/l/_99R6gcMAK95Y

Find the total distance covered by the bus

from D to G.

o Watch Video Solution

73. A bus started its journey and reached
different  places with a speed of

60km//hour.The journey is shown below:


https://dl.doubtnut.com/l/_99R6gcMAK95Y
https://dl.doubtnut.com/l/_iAE6RDRRG7s0

Find the total distance covoered by the bus,if it

starts from A and returns back to A.

L&

o Watch Video Solution

74. A bus started its journey and reached
different  places with a speed of
60km//hour.The journey is shown below:

Find out the time taken by the bus to reach .

P

° Watch Video Solution



https://dl.doubtnut.com/l/_iAE6RDRRG7s0
https://dl.doubtnut.com/l/_nlyTGSsr0Lv6

75.Find the derivative of y = sin 3x + cos 2z

o Watch Video Solution

76. Estimate the following products.

87 x 313

° Watch Video Solution

77. Estimate the following products.

8 X 785 = 7


https://dl.doubtnut.com/l/_nlyTGSsr0Lv6
https://dl.doubtnut.com/l/_jcU6Yd8gugLk
https://dl.doubtnut.com/l/_DZlg0VVkEifF
https://dl.doubtnut.com/l/_8sR5FL9VqiJE

° Watch Video Solution

78. Estimate the following products.

898 x 785

o Watch Video Solution

79. Estimate the following products.

958 x 37

o Watch Video Solution



https://dl.doubtnut.com/l/_8sR5FL9VqiJE
https://dl.doubtnut.com/l/_8pr8wQR5OrQa
https://dl.doubtnut.com/l/_UPwT49Dy9kZt
https://dl.doubtnut.com/l/_Gh1AhuUuKCGY

80. solve them. 416 x 8

o Watch Video Solution

81. solve them. 23 x 76

° Watch Video Solution

82. solve them. 735 x 32

o Watch Video Solution



https://dl.doubtnut.com/l/_Gh1AhuUuKCGY
https://dl.doubtnut.com/l/_5dMnHM0E6ucx
https://dl.doubtnut.com/l/_JnwxEmADujdS
https://dl.doubtnut.com/l/_9uOXSVEoMTGt

83. solve them. 3874 x 873

° Watch Video Solution

84. solve them. 278 x 642

o Watch Video Solution

85. Write the expressions for each of the
following using brackets:

Four multiplied by the sum of nine and two.

l a AL _L vl ~_ ..


https://dl.doubtnut.com/l/_9uOXSVEoMTGt
https://dl.doubtnut.com/l/_3fNkx7b0nXQL
https://dl.doubtnut.com/l/_hTMMZk3FJkZH
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86. Write the expressions for each of the
following using brackets:
Divide the difference of eighteen and six by

four.

o Watch Video Solution

87. Write the expressions for each of the

following using brackets:


https://dl.doubtnut.com/l/_hTMMZk3FJkZH
https://dl.doubtnut.com/l/_rf6zyh5WrqL0
https://dl.doubtnut.com/l/_DouAeY6Zlova

Forty five divided by three times the sum of

three and two.

o Watch Video Solution

88. Write three different situations for

(5+ 8) x 6.

° Watch Video Solution

89. Write five situations for the following

where brackets would be necessary.


https://dl.doubtnut.com/l/_DouAeY6Zlova
https://dl.doubtnut.com/l/_3Y2eSabxyO1A
https://dl.doubtnut.com/l/_3hrSGjICGgRD

7(8 — 3)

o Watch Video Solution

90. Write five situations for the following

where brackets would be necessary.

(7 + 2)(10 — 3).

° Watch Video Solution

91. XXXX, VX, IC, XW are not written. Can you

tell why?



https://dl.doubtnut.com/l/_3hrSGjICGgRD
https://dl.doubtnut.com/l/_KegQvOh4Exly
https://dl.doubtnut.com/l/_gf5pYN4AjI3g

\ o Watch Video Solution

92. Write in Roman Numerals.

3="70+3

° Watch Video Solution

93. Write in Roman Numerals.

92 =90 + 2

° Watch Video Solution



https://dl.doubtnut.com/l/_gf5pYN4AjI3g
https://dl.doubtnut.com/l/_HQqPhj7P2AOO
https://dl.doubtnut.com/l/_u3HD5KWPAkXa

Exercise 11 Fill In The Blanks

1. Fill in the blanks:

1 lakh = .....ten thousand.

o Watch Video Solution

2.Fill in the blanks:

1 million =.............. hundred thousand.

O Watch Video Solution



https://dl.doubtnut.com/l/_FsiQF0xqRQb4
https://dl.doubtnut.com/l/_D49XDlNv5Akc
https://dl.doubtnut.com/l/_JQ2rbcSmPr51

3. Fill in the blanks:

1Crore = e ten lakh.

o Watch Video Solution

4. Fill in the blanks:

1crore = ... million.

° Watch Video Solution

5. Fill in the blanks:

1 million =.......... lakh.



https://dl.doubtnut.com/l/_JQ2rbcSmPr51
https://dl.doubtnut.com/l/_eRGGIIppdnBH
https://dl.doubtnut.com/l/_lgTe9BSgg426

’ o Watch Video Solution

6. Place commas correctly and write the
numerals :
Seventy-three lakh seventy-five thousand three

hundred seve.

° Watch Video Solution

7. Place commas correctly and write the

numerals :


https://dl.doubtnut.com/l/_lgTe9BSgg426
https://dl.doubtnut.com/l/_uci72sbp0lXI
https://dl.doubtnut.com/l/_UvZHN8tJFmOx

Nine crore fivelakh forty-one.

o Watch Video Solution

8. Place commas correctly and write the
numerals :
Seven crore fifry-two lakh twenty-thousand

three hundred two.

° Watch Video Solution



https://dl.doubtnut.com/l/_UvZHN8tJFmOx
https://dl.doubtnut.com/l/_zSFVPNCR7vk0

9. Place commas correctly and write the
numerals :
Fifty-eight million four hundred twenty-thre

thousand two hundred two.

° Watch Video Solution

10. Place commas correctly and write the

numerals :

Twenty-three lakh thirty thousand ten.

o Watch Video Solution



https://dl.doubtnut.com/l/_TeEITc4rgh9V
https://dl.doubtnut.com/l/_Fg4Z82v1PoGV

11. Insert commas suitable and write the names
according to Indian system of numeratio :

87595762

° Watch Video Solution

12. Insert commas suitable and write the
names according to Indian system of
numeratio :

8546283

o Watch Video Solution



https://dl.doubtnut.com/l/_J9xSdAUXoQ7N
https://dl.doubtnut.com/l/_2gsP8NX7fAsE

13. Insert commas suitable and write the
names according to Indian system of
numeratio :

99900046

° Watch Video Solution

14. Insert commas suitable and write the
names according to International system of
numeration:

78921092

l ﬂ Watch Video Solution I


https://dl.doubtnut.com/l/_3ffYwALyooLc
https://dl.doubtnut.com/l/_hhWbwIFzY8JT

15. Insert commas suitable and write the
names according to International system of
numeration:

7452283

° Watch Video Solution

16. Insert commas suitable and write the

names according to International system of


https://dl.doubtnut.com/l/_hhWbwIFzY8JT
https://dl.doubtnut.com/l/_yw5DeQVcrQc6
https://dl.doubtnut.com/l/_nzw1krAAt1NP

numeration:

99985102

o Watch Video Solution

17. Insert commas suitable and write the names
according to International system of
numeration:

48049831

° Watch Video Solution



https://dl.doubtnut.com/l/_nzw1krAAt1NP
https://dl.doubtnut.com/l/_2VMHTITG1mtW

1. A book exhibition was held for four days in a
school. The number of tickets sold at the
counter on the first, second, third and final day
was respectively 1094, 1812, 2050 and 2751. Find
the total number of tickets sold on all the four

days.

o Watch Video Solution



https://dl.doubtnut.com/l/_2s7AyENnxb1o

2.Shekhar is a famous cricket player. He has so
far scored 6980 runs in test matches. He
wishes to complete 10,000 runs. How many

more runs does he need?

o Watch Video Solution

3. In an election, the successful candidate
registered 5,77,500 votes and his nearest rival
secured 3,48,700 votes. By what margin did the

successful candidate win the election?

I ﬂ Watch Video Solution


https://dl.doubtnut.com/l/_sOx8fqK0Xh5P
https://dl.doubtnut.com/l/_GUwfKoDB33zw

4. Kirti Bookstore sold books worth Rs2,85,891
in the first week of June and books worth
Rs4,00,768 in the second week of the month.
How much was the sale for the two weeks
together? In which week was the sale greater

and by how much?

o Watch Video Solution



https://dl.doubtnut.com/l/_GUwfKoDB33zw
https://dl.doubtnut.com/l/_TfNHtbKbj9zy

5. Find the difference between the greatest
and the least 5-digit number that can be
written using the digits 6, 2, 7, 4, 3 each only

once.

° Watch Video Solution

6. A machine, on an average, manufactures
2,825 screws a day. How many screws did it

produce in the month of January 20067

o Watch Video Solution



https://dl.doubtnut.com/l/_8TqNChX855ch
https://dl.doubtnut.com/l/_VLQPmNJkSxrC

7. A merchant had Rs. 78,592 with her. She
placed an order for purchasing 40 radio sets at
Rs. 1200 each. How much money will remain

with her after the purchase?

o Watch Video Solution

8. A student multiplied 7236 by 65 instead of
multiplying by 56. By how much was his answer
greater than the correct answer? (Hint: Do you

need to do both the multiplications?

I n|A',L,L\'!,I,, o~ _1_ _sn°® ___


https://dl.doubtnut.com/l/_dEniAqopo5GM
https://dl.doubtnut.com/l/_Y0ePLynXvMgQ

{ ™ Vvvaldll vidCo S501Uution ]

9. To stitch a shirt, 2 m 15 cm cloth is needed.
Out of 40 m cloth, how many shirts can be
stitched and how much cloth will remain?

(Hint: convert data in cm.)

° Watch Video Solution

10. Medicine is packed in boxes, each weighing

4 kg 500g. How many such boxes can be


https://dl.doubtnut.com/l/_Y0ePLynXvMgQ
https://dl.doubtnut.com/l/_Y4AkY6hqPYRy
https://dl.doubtnut.com/l/_xJApdqVz6nH6

loaded in a van which cannot carry beyond 800

kg?

o Watch Video Solution

11. The distance between the school and a
student’s house is 1 km 875 m. Everyday she
walks both ways. Find the total distance

covered by her in six days.

° Watch Video Solution



https://dl.doubtnut.com/l/_xJApdqVz6nH6
https://dl.doubtnut.com/l/_a8yTONe5rU5P

12. A vessel has 4 litres and 500 ml of curd. In

how many glasses, each of 25 ml capacity, can

it be filled?

° Watch Video Solution

1. Estimate each of the following using general
rule.

730 + 998

| & ]


https://dl.doubtnut.com/l/_8737dQCD3VaE
https://dl.doubtnut.com/l/_BW99Oc5s0Q3M

| ' Watch Video Solution ]

2. Estimate each of the following using general

rule.

796 — 314

o Watch Video Solution

3. Estimate each of the following using general
rule.

12, 904 + 2, 888

° Watch Video Solution



https://dl.doubtnut.com/l/_BW99Oc5s0Q3M
https://dl.doubtnut.com/l/_hwPEVLbWe9hy
https://dl.doubtnut.com/l/_cNhSGoNCVTF0

4. Estimate each of the following using general

rule.

28, 292 — 21, 496

o Watch Video Solution

5. Make ten more examples of addition,

subtraction and estimation of their outcome.

437 + 626

° Watch Video Solution



https://dl.doubtnut.com/l/_cNhSGoNCVTF0
https://dl.doubtnut.com/l/_S9v1bUyFMvs2
https://dl.doubtnut.com/l/_5XxaUBuqVgVl

6. Make ten more examples of addition,

subtraction and estimation of their outcome.

566 + 9238

o Watch Video Solution

7. Make ten more examples of addition,
subtraction and estimation of their outcome.

27362 — 3867

° Watch Video Solution



https://dl.doubtnut.com/l/_5XxaUBuqVgVl
https://dl.doubtnut.com/l/_5eSikh2Og5sW
https://dl.doubtnut.com/l/_7oRFnytdBGaa

8. Make ten more examples of addition,

subtraction and estimation of their outcome.

5914 — 2198

° Watch Video Solution

9. Make ten more examples of addition,

subtraction and estimation of their outcome.

32267 — 13768

o Watch Video Solution



https://dl.doubtnut.com/l/_OxP2XFRokSEX
https://dl.doubtnut.com/l/_tiXYhWzIybTI
https://dl.doubtnut.com/l/_BBNpDTOAn7C9

10. Make ten more examples of addition,
subtraction and estimation of their outcome.

958 + 378

° Watch Video Solution

11. Make ten more examples of addition,

subtraction and estimation of their outcome.

27932 4 72

o Watch Video Solution



https://dl.doubtnut.com/l/_BBNpDTOAn7C9
https://dl.doubtnut.com/l/_WjZVAfjl1MuZ

12. Make ten more examples of addition,

subtraction and estimation of their outcome.

27932 4 721

° Watch Video Solution

13. Make ten more examples of addition,

subtraction and estimation of their outcome.

4405 + 7981

o Watch Video Solution



https://dl.doubtnut.com/l/_t916n3aOk8LZ
https://dl.doubtnut.com/l/_rH4EQdX0bMVG
https://dl.doubtnut.com/l/_NQ6DFPJyovzM

14. Make ten more examples of addition,
subtraction and estimation of their outcome.

5315 — 2131

° Watch Video Solution

15. Give a rough estimate (by rounding off to
nearest hundreds) and also a closer estimate

(by rounding off to nearest tens.)

539 + 324 + 4, 316

o Watch Video Solution



https://dl.doubtnut.com/l/_NQ6DFPJyovzM
https://dl.doubtnut.com/l/_Hmg7A8K5XxDF

16. Give arough estimate (by rounding off the
nearest hundreds)and also a closer

estimate(by rounding off to nearest tens),

1, 08, 734 — 47, 599

o Watch Video Solution

17. Give arough estimate (by rounding off the
nearest hundreds)and also a closer

estimate(by rounding off to nearest tens),

8325 — 491

I n|A',L,L\'!J,, o~ _1_ _sn°®° ___


https://dl.doubtnut.com/l/_NWvRTp2Ax2eZ
https://dl.doubtnut.com/l/_epphSS1klpBj

{ ™ Vvvaldll vidCo S501Uution )|

18. Give arough estimate (by rounding off the
nearest hundreds)and also a closer
estimate(by rounding off to nearest tens),

4, 89, 348 — 48, 365.

° Watch Video Solution

19. Make four such examples:

593 + 434 + 5317

o Watch Video Solution



https://dl.doubtnut.com/l/_epphSS1klpBj
https://dl.doubtnut.com/l/_TA0PFG4ZRjrH
https://dl.doubtnut.com/l/_K4I9i9oF5eZM

20. Make four such examples:

109834 + 48598

° Watch Video Solution

21. Make four such examples:

7625 — 591

o Watch Video Solution



https://dl.doubtnut.com/l/_K4I9i9oF5eZM
https://dl.doubtnut.com/l/_3YKdkW7wYT7N
https://dl.doubtnut.com/l/_tOJKMKpL12io

22. Make four such examples:

479548 — 47465

° Watch Video Solution

23. Estimate the following products using
general rule:

578 x 161

o Watch Video Solution



https://dl.doubtnut.com/l/_Vprgo725CZCM
https://dl.doubtnut.com/l/_QqlQDRRjjtz5

24. Estimate the following products using

general rule:

5281 x 3491

° Watch Video Solution

25. Estimate the following products using

general rule:

1291 x 592.

o Watch Video Solution



https://dl.doubtnut.com/l/_iU2227TLKnsq
https://dl.doubtnut.com/l/_X0uA9kSbV89J
https://dl.doubtnut.com/l/_7dwvsSjXLWeL

26. Estimate the following products using

general rule:

9250 x 29

° Watch Video Solution

27. Estimate the following products using

general rule.

858 x 487

o Watch Video Solution



https://dl.doubtnut.com/l/_7dwvsSjXLWeL
https://dl.doubtnut.com/l/_CvkCFjRuzMdr

28. Estimate the following products using

general rule.

7891 x 8752

° Watch Video Solution

29. Estimate the following products using

general rule.

79 x 4153

o Watch Video Solution



https://dl.doubtnut.com/l/_81Vm3Pg35B47
https://dl.doubtnut.com/l/_8TJYVNKuCVbz
https://dl.doubtnut.com/l/_yhC96jfoSX60

30. Estimate the following products using

general rule.

1925 x 653

o Watch Video Solution

Additional Questions For Practice Very Sort

Answer Type Questions

1.1 million in Indian system is

A. ten lakh


https://dl.doubtnut.com/l/_yhC96jfoSX60
https://dl.doubtnut.com/l/_5xCLrwjhUJEb

B. ten thousand

C. One crore

Answer:

o Watch Video Solution

2. The Hindu Arabic numeral for the number

LXXIII is

A. 83


https://dl.doubtnut.com/l/_5xCLrwjhUJEb
https://dl.doubtnut.com/l/_EWeXwHIIQQK9

B.73

C.79

D.N/A

Answer:

o Watch Video Solution

3. Which of the following cannot be estimated

as 4000 in the nearest thousands?

A. 4098


https://dl.doubtnut.com/l/_EWeXwHIIQQK9
https://dl.doubtnut.com/l/_VGy4HUsz5hIp

B. 3980

C. 3125

D.N/A

Answer:

o Watch Video Solution

4. The total number of 4-digit numbers is

A. 9999

B. 9000


https://dl.doubtnut.com/l/_VGy4HUsz5hIp
https://dl.doubtnut.com/l/_xetMO38QgIQ9

C. 8999

D. N/A

Answer:

° Watch Video Solution

5. Which of the following is not meaningful?

A. VX

B. XV

C. XIV


https://dl.doubtnut.com/l/_xetMO38QgIQ9
https://dl.doubtnut.com/l/_LVmvT8O7bTnT

D.N/A

Answer:

o Watch Video Solution

6.

2 x 10000 +0 x 100 +8 x 100 +0 x 10 + 2 x 1

IS same as:

A. 20082

B. 20802


https://dl.doubtnut.com/l/_LVmvT8O7bTnT
https://dl.doubtnut.com/l/_ccZHtqVviUwo

C. 2802

D.N/A

Answer:

° Watch Video Solution

7.Keeping the place of | in the number 1250947
same, the smallest number obtained by

rearranging the digits is

A. 1975420


https://dl.doubtnut.com/l/_ccZHtqVviUwo
https://dl.doubtnut.com/l/_gvXj3rbIUc1c

B. 1042579

C. 1024579

D.N/A

Answer:

o Watch Video Solution

8. Place value of 2 in 182510584 is:

A. 200000

B. 2000000


https://dl.doubtnut.com/l/_gvXj3rbIUc1c
https://dl.doubtnut.com/l/_GMTxITW8im0b

C. ten lakhs

D. N/A

Answer:

° Watch Video Solution

O. If car covers 204 km distance in 12 hours,

then the average speed of car is:

A.17 km/h

B.27 km/hr


https://dl.doubtnut.com/l/_GMTxITW8im0b
https://dl.doubtnut.com/l/_Q9TmP5DgMHNH

C.5 km/hr

D. N/A

Answer:

° Watch Video Solution

10. Smallest 5 digit number formed using the

digits 0,4,1,9 is:

A. 1490

B. 10049


https://dl.doubtnut.com/l/_Q9TmP5DgMHNH
https://dl.doubtnut.com/l/_63tULVii5iIx

C. 10409

D. N/A

Answer:

° Watch Video Solution

Additional Questions For Practice Fill In The

HENS

1. Six crore seven lakh eighty two is written in

numerals as.............

| e |


https://dl.doubtnut.com/l/_63tULVii5iIx
https://dl.doubtnut.com/l/_WG8wKMAhzbsL

[ & Watch Video Solution I

2. The number name for 10000101 in

International System of Numeration is .........

O Watch Video Solution

3. Among kilo, milli and centi the smallest is

o Watch Video Solution



https://dl.doubtnut.com/l/_WG8wKMAhzbsL
https://dl.doubtnut.com/l/_r2cG210LKMKt
https://dl.doubtnut.com/l/_LUphaNEJyULx
https://dl.doubtnut.com/l/_bupIRoUcxm49

4. In Roman numeral system, the symbol X is

subtracted from L, ........ and C only.

O Watch Video Solution

5. The greatest number that can be rounded

off to the nearest thousand as 7000 is ..........

o Watch Video Solution

6. Smallest 4-digit number with 9 at hundreds

place is..........


https://dl.doubtnut.com/l/_bupIRoUcxm49
https://dl.doubtnut.com/l/_svhwFn7DdG6W
https://dl.doubtnut.com/l/_X0sLzTU1a9Mv

° Watch Video Solution

7.Two less than smallest 6 digit number is

o Watch Video Solution

8. Fill in the blanks 4 kg = .............. mg.

° Watch Video Solution



https://dl.doubtnut.com/l/_X0sLzTU1a9Mv
https://dl.doubtnut.com/l/_sGaFdQMxK03p
https://dl.doubtnut.com/l/_s3OVUqoNk3NJ

9. Product of greatest and smallest 3-digit

number is

° Watch Video Solution

10. Fill in the blanks 500 million = ............

o Watch Video Solution

Additional Questions For Practice


https://dl.doubtnut.com/l/_ULtwrBPCkxJG
https://dl.doubtnut.com/l/_KyG2ybDEe1sq

1. Check the following statements if they are
true or not

LXXV is greater than LXXIV.

° Watch Video Solution

2. Correct the following statements.
Smallest 4-digit number having three different

digits is 1020.

o Watch Video Solution



https://dl.doubtnut.com/l/_UQA8tpXDopnt
https://dl.doubtnut.com/l/_Fk7vhZlelt2R
https://dl.doubtnut.com/l/_z11giUuMKRYa

3. Correct the following statements.
The expansion of the number 8759 is

8 x 10,000+ 7 x 100 +5x 1049 x 1

° Watch Video Solution

4. Correct the following statements.
In Indian system of numeration 58,692,317
using commas is written as 58,692,317 is the

correct statement.

o Watch Video Solution



https://dl.doubtnut.com/l/_z11giUuMKRYa
https://dl.doubtnut.com/l/_9RiFk3xrDiHx

5. Correct the following statements.
Height of Ritika is 65 cm. In millimetres it is 165

mm.

° Watch Video Solution

6. Correct the following statements.
By adding 1 to the greatest 4-digit number we

get one lakh.

o Watch Video Solution



https://dl.doubtnut.com/l/_9pkqOXksJG6M
https://dl.doubtnut.com/l/_JLcEUCCTrY8Y
https://dl.doubtnut.com/l/_YoRTwqRysuOf

7. Check the following statements if they are
true or not
In a roman numerals if asymbol is repeated, its

value is multiplied as many times as it occurs.

° Watch Video Solution

8. Insert commas suitably and write the
number names for the following:

3642091 in Indian System of Numeration.

o Watch Video Solution



https://dl.doubtnut.com/l/_YoRTwqRysuOf
https://dl.doubtnut.com/l/_0a16You4vvuL

9. 79200510 in International System of

Numeration.

° Watch Video Solution

10. 100400258in Indian System of Numeration.

o Watch Video Solution

1. 812341905 -international System of

Numeration.



https://dl.doubtnut.com/l/_97GHIRyGe5E9
https://dl.doubtnut.com/l/_KdzmKtyLOvr0
https://dl.doubtnut.com/l/_XiStpJAG0owF

O Watch Video Solution

12. Place commas correctly and write the
numerals.

Seven crore seven lakh seven

o Watch Video Solution

13. Place commas correctly and write the
numerals:

Twenty nine million one thousand seventeen

l o Watch Video Solution


https://dl.doubtnut.com/l/_XiStpJAG0owF
https://dl.doubtnut.com/l/_xgdX4ocZsfhJ
https://dl.doubtnut.com/l/_lcGIhwszr3tF

14. Place commas correctly and write the
numerals:
Fifty eight million one hundred five thousand

two hundred three

o Watch Video Solution

15. Place commas correctly and write the

numerals:

Seven lakh forty three thousand eighty two



https://dl.doubtnut.com/l/_lcGIhwszr3tF
https://dl.doubtnut.com/l/_mMJ1Q2xORgJA
https://dl.doubtnut.com/l/_ee1YP62UwGAR

I O Watch Video Solution

16. Write the Hindu Arabic numeral for the
following :

CCXXXV

o Watch Video Solution

17. Write the Hindu Arabic numeral for the
following :

MDLI

l o Watch Video Solution


https://dl.doubtnut.com/l/_ee1YP62UwGAR
https://dl.doubtnut.com/l/_Wzmbk3HkHmYb
https://dl.doubtnut.com/l/_tIvSFlnCy2Xr

18. Write the Hindu Arabic numeral for the
following :

CXVIII

o Watch Video Solution

19. Write the Hindu Arabic numeral for the
following :

CLIX

o Watch Video Solution



https://dl.doubtnut.com/l/_tIvSFlnCy2Xr
https://dl.doubtnut.com/l/_dzhZD6VRkXo6
https://dl.doubtnut.com/l/_onrjSd6up3gb

Additional Questions For Practice Short Answer

Type Questions

1. Estimate the following.

359 + 215+44 using general rule.

o Watch Video Solution

2. Estimate the following.
21569- 12345 by rounding off to the nearest

hundreds,


https://dl.doubtnut.com/l/_onrjSd6up3gb
https://dl.doubtnut.com/l/_REGG5bQDZqex
https://dl.doubtnut.com/l/_8EDosCbzDCds

O Watch Video Solution

3. Estimate the following.

7631 x 253 using general rule.

o Watch Video Solution

4. Estimate the following.
105837 + 63841 by rounding off to the nearest

thousands.

° Watch Video Solution



https://dl.doubtnut.com/l/_8EDosCbzDCds
https://dl.doubtnut.com/l/_HHPc9tm1DFCr
https://dl.doubtnut.com/l/_a5IMdHBMSx3N

Additional Questions For Practice Long Answer

Type Questions

1. A packet contains 10 strips of 10 capsules in
each strip. Each capsule weighs 250 g. Find the
total weight in grams of medicines in 10 such

packets.

o Watch Video Solution



https://dl.doubtnut.com/l/_a5IMdHBMSx3N
https://dl.doubtnut.com/l/_85vwJ7JGzBnB

2. Diameter of the earth is 12800 km and that
of Mars is 8600000 m. Whose diameter is

bigger and by how much?

° Watch Video Solution

3. The town newspaper is published everyday.
One copy has 12 pages. Everyday 11,980 copies
are printed. How many total pages of

newspaper are printed everyday?

o Watch Video Solution



https://dl.doubtnut.com/l/_wEZSqnB1bPXz
https://dl.doubtnut.com/l/_CJrbioiuiSTu

4. Population of a place was 3,25,174 in the year
2015. In the year 2016 it was found to have
increased by 81,205. Find out the population of

the place in 2016.

o Watch Video Solution

5. There were 107005 spectators at a cricket
match. Among them were 14830 families with 4
family members each. Of the remaining
spectators 12,890 were men. How many women

and children from the remaining were there?


https://dl.doubtnut.com/l/_sOlrPlPlpuKt
https://dl.doubtnut.com/l/_bcGj24L6OMEj

° Watch Video Solution

Additional Questions For Practice Hots High

Order Tltinkme Skill

1. There were 50 oranges in each crate. 12 such
crates of oranges were delivered to a juice
shop. 40 oranges were found rotten and were
thrown away. The remaining were packed into
boxes of 14 oranges each. How many boxes of

oranges were there?

o Watch Video Solution



https://dl.doubtnut.com/l/_bcGj24L6OMEj
https://dl.doubtnut.com/l/_GdfBdKUgIshk

Sample Paper For Practice

1. Write the expressions for the statements

given below

Divide the difference of 14 and 6 by 2.

o Watch Video Solution

2. Write the expressions for the statements

given below


https://dl.doubtnut.com/l/_GdfBdKUgIshk
https://dl.doubtnut.com/l/_6vpXsJ2nAxuu
https://dl.doubtnut.com/l/_cYwgLbFDPDXC

Twelve multiplied by the sum of 6 and 9

o Watch Video Solution

3. Write the numbers for the following

expansion

70000000 + 6000000 + 10000 + 20 + 9

° Watch Video Solution

4. Write the numbers for the following

expansion


https://dl.doubtnut.com/l/_cYwgLbFDPDXC
https://dl.doubtnut.com/l/_sEVyyyBMPS34
https://dl.doubtnut.com/l/_sOzoWscpcGgy

8000000 + 50000 + 600 + 80 + 9

o Watch Video Solution

5. Match the following:

(a) Smallest o greatest - one lakh centimetre

(b)  Ome million 15 equal o 1400

(e} Estimatled product of 23 = 65 ~ is ascending order
(d} One kilometre — thousand thousands

o Watch Video Solution

6. 8-digit number has all ones in ones period,

all two's in thousands period and all threes in


https://dl.doubtnut.com/l/_sOzoWscpcGgy
https://dl.doubtnut.com/l/_Wti4RgE98wZI
https://dl.doubtnut.com/l/_I9b8L6Zmlhpc

millions period.

Identify the number using commas.

o Watch Video Solution

7. 8-digit number has all ones in ones period,
all two's in thousands period and all threes in
millions period.

Which system of numeration it is expressed?

° Watch Video Solution



https://dl.doubtnut.com/l/_I9b8L6Zmlhpc
https://dl.doubtnut.com/l/_bhtURoApfcby

8. 8-digit number has all ones in ones period,
all two's in thousands period and all threes in
millions period.

Write this number in words.

o Watch Video Solution

9. 8-digit number has all ones in ones period,
all two's in thousands period and all threes in
millions period.

Round off this number to the nearest ten

thousands.


https://dl.doubtnut.com/l/_tBCCIyq4QCcL
https://dl.doubtnut.com/l/_6XSiz9uLHIwP

° Watch Video Solution

10. Answer the following questions :
Form the smallest and largest 4-digit number

using the digits 6,0,2 and 4 only once.

o Watch Video Solution

1. Write the number 175090 in expanded

notation.

° Watch Video Solution



https://dl.doubtnut.com/l/_6XSiz9uLHIwP
https://dl.doubtnut.com/l/_4PZAfCdG4yMZ
https://dl.doubtnut.com/l/_Xge11m1LN2JF

12. Express 137 and 294 in roman numerals.

o Watch Video Solution

13. Arrange 23814,21483,28431 and 24813 in

descending order.

° Watch Video Solution

14. Estimate the following using general rule.

3841 + 29758


https://dl.doubtnut.com/l/_Xge11m1LN2JF
https://dl.doubtnut.com/l/_vj4vbUp4HN9R
https://dl.doubtnut.com/l/_CusYXknQ9ejX
https://dl.doubtnut.com/l/_il1BFHOFEqk2

° Watch Video Solution

15. Estimate the following using general rule.

611523 — 5297

o Watch Video Solution

16. Estimate the following using general rule.

739 x 861

° Watch Video Solution



https://dl.doubtnut.com/l/_il1BFHOFEqk2
https://dl.doubtnut.com/l/_8Qdh4B3PeTNQ
https://dl.doubtnut.com/l/_setGsDQwdWRY
https://dl.doubtnut.com/l/_SB3kWeY2OMiD

17. Raman multiplied 2385 by 43 instead of
multipling by 34. How much was the answer

greater than the correct answer?

o Watch Video Solution

18. Population of a town was 87878 in the year
1996 and 98572 in the year 2000. Estimate the
increase in population by rounding off each

population to the nearest hundreds.

o Watch Video Solution



https://dl.doubtnut.com/l/_SB3kWeY2OMiD
https://dl.doubtnut.com/l/_ilhzGWTum2PK

19. The number of sheets of paper available for
making a notebook is 50,000. Each sheet
makes 10 pages of a notebook. Each notebook
contains 100 pages. Find the number of

notebooks that can be made.

o Watch Video Solution



https://dl.doubtnut.com/l/_sNLscNtVSsWn

